C1 - Session 1
Arithmetic 
4 x 9 =
56 ÷ 8 =
68 x 3 = 

Useful parent video
https://mathsnoproblem.com/en/parent-videos/
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Answers
1a)
b)
c)

2a)
b)
c)
d)

3a)
b)
c)
d)

4a)
b)
c)
d)
e)
f)
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@ 4 by counting on.

356 | 357 | 358 | 359 | 360 | 361 | 362 | 363 | 364 | 365
(@ 358 +4= () 356+3=
€ 363+1= ) 360 +5=

° Add by counting on.

950 | 951 | 952 | 953 | 954 | 955 | 956 | 957 | 958 | 959

(@ 950 +9 = (®) 956 +2=

© 952+5= d 954 +1=

© Fiunthoblanks.

(@ 100 +9 = (b) 460 + 6 =

© 293+3= @ 712+7=

@ 334+5

1]
3

883 + 5 =
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Simple Adding

There were 213 books In the bookcase.
How many books were there after Hannah put 4 more books in (t?

Add 213 and 4.

Method 1 Count on from 213.

213+ 4 =217
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Method 2 Add the ones.
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. 3+4=7
210+7=217

213+4=217
There were 217 books In the bookcase.
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Worksheet 2

Simple Adding

@i the blanks.

(a) Add 123 and 4.
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(b) Add5and 324.

(c) Add640and 7.
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